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QUESTION 1
Which two statements are true regarding ARP request/response on an ACI Fabric? (Choose two.)
A. ARP requests come in on the elected/designated FD encapsulation VLAN under the BD.

B. ARP request can be captured using icpdump" on spine switches.

C. ARP traffic is handled by the broadcom ASIC it the two endpoints are in the same EPG and the same FD VLAN.

D. ARP requests are sent to CPU only if they are for the Bridge Domain SVI IP address
E. ELAM can be used to capture ARP request/response frames in the Leaf front panel Broadcom ASIC.

Correct Answer: DE

QUESTION 2

Which three AVS switching modes are supported on Cisco ACI? (Choose three)
A. VXLAN, no local switching

B. VPC-HM

C. VXLAN, local switch

D. VLAN, no local switching

E. MAC pinning

F. VLAN, local switching

Correct Answer:. ADF

QUESTION 3

Wh.ch two statements about the Cisco ACI distributed gateway are true? (Choose two.)

A. Endpoints attached to a leaf always find their gateway locally on the attached leaf.

B. The routing function of the SVI is performed on the leaf in the Northstar ASIC.

C. Endpoint mobility is restricted to a specific port on a specific leaf.

D. The routing function of the SVI is performed on the leaf in the Trident 2 Broadcom ASIC.
E. Gateway is represented as a SVI.

Correct Answer: BD
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QUESTION 4

Which option describes how to clear a fault from the Cisco ARC after it has been generated?
A. Faults are raised and cleared automatically by the system.

B. Faults can be "acknowledged" only after the fault is in the "soaking" state.

C. Faults can be "acknowledged," which means it is immediately cleared from the system.

D. Faults are cleared only after the log is full, so the oldest faults are deleted.

Correct Answer: C

QUESTION 5

Refer to the exhibit

shell:domains = domain / Rolel | Role2 | Role3 / Role4 | Role5 | Role6
In the Cisco AV Pair, which two options are correct? (Choose two.)

A. Rolel = Read

B. Role2 = Read

C. Role5 = Write

D. Role2 = Write

E. Role6 = Write

F. Rolel = Write

Correct Answer: AE
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